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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12
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P3-12
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45
44
43 1

930 935 940

m=495, FV0=0

46 A

45 -

44 -

43

42

—— MW

560 565
m=675,n FV0=0

45 ~

44 -

43 -

42

41

—— MW

650 6é5
m=820,n FV0=0

46

45

44

43 -

42 -

—o— MW

820

8&5 8é0
m=980,n FV0=0

46

45 -

44 -

43 -

-— MW

7

980

985 990

m=535, FV0=0

47 A

46 -

45 -

44 -

43 A

—— MW

535

5&0 5&5
m=710,n FV0=0

48 -

47 A

46 -

45 -

44 -

43 -

—— MW

710

7i5 7&0
m=855,n FV0=0

45 -

44 -

43 A

42 -

—o— MW

855

860 865

m=590, FV0=0
451 —— MW
44 4
43 -
42 4
41 4
T T T
590 595 600
m=745,m FV0=0
P
45 -
44 4
43 4
42 R T T T
745 750 755
m=890,m FV0=0
46 -
—— MW
45 4
44 4
43 4
890 895 900
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P3-12

BfiE) | FEBIETK (D) | E#=E (EH/) | XK R

07:45 283 150.0 |Z=| 1Ri&@07:45 Bzh (GRB{EEE)
08:25 283 150.0 A5 {Ri%e08:25 B (RFEHEREE)
09:30 283 150.0 |Z=| 1Ri&@09:30 Bzl (GkA{EEEE)
10:20 283 150.0 [Z=| 1Ri%e10:20 Bz (RF{ERESE)
11:05 283 150.0 [Z=| 1Ri%@11:05 Bz (REAERES)
11:45 283 150.0 (2 =| Bige11:45 Bz (kBFERSE)
12:25 283 150.0 |2 =| 1Rige12:25 Bz (GRB{EEE)
13:05 283 150. 0 FB| {Ri&@13:05 B3 (FRAFERSE)
13:40 283 150.0 FB| {Ri%013:40 Bl (RAFERE)
14:20 283 150.0 FA| {Ri&e@14:20 Bz (GGRAERE)
15:00 283 150.0 |Z=| 1Ri%e15:00 Bz (RFA{EREE)
15:45 283 150.0 | =| 1{Ri&e15:45 Bz (KRPBEEE)
16:40 283 150.0 (2 =| 1Ri%e16:40 Bz (kBFERSE)
=23t]3679.0 (13:%) 1950. 0 32 HKEC: 2080.0, PH: 5.6

MEREHERE STMAREARS (184.0 : 153.0), AIREHTF—@E XAH4
ZRIALBRIERE153.0 ml.
FHERECE (2393.0 vs 3957.0) 45



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=55 (2025-05-27)

T e g g S B S

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576
2057 2100

1 -
00 11700 585

50

150 -

100 A

50 -

0.2

900

200

100

300

200

100

300 3

200

100

1.0

0.8

0.6

0.4

0.2

0.0

222

40 40
Warning: lcol [FVI',| "FVO’'] missing

- 3000

- 2000

- 1000

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

7 1
Bylnit; @57 01:48: ET=1790 Fg=2250.0 Ro=486.0

q1IL

3000

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

3000

— — ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
EXSNEZSANE i 5 5 5 i H 5 G A B 5 G A B B B G B B B G

]
4 ByEt @55 19:07: ET=1738 Fg=2142. 0 Ro=nan & * —o *—0

Emuiir

- 2000

- 1000

1
N I
1
1
— — a—— — e lUI F\'“\\
0 1 2 K] 4 5 6

7 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

3000

ZEE| B R\ B (R | ZE (2|55 KB | EE(Z| 55 (25| A | B | ER|(2E |25 |22 |25 B | B [ B

]
. ByWon: @D57 01:48: ET=1585 Fg=1950.0 Ro=421.0

1
———e—2 %=
3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 2000

- 1000

12522 |85 (2|85 (2R |55 |25 5 (2|55 |25 |55 | B | B 2R |22 |5 (22|55 (2| B [ KB | B

—_—
o | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=460, FV0=0 m=495, FV0=0 m=545, FV0=0

280 4 . M_E 28. 8 1 o M_E 29. 2 1 - M_E
29.0 A
27.5 28.6 7
28. 8 -
27.0 28. 4
28. 6
26. 5 A 28. 2 4
26 L T T T T T T T T T 28 4 L T T T
600 800 1000 460 465 470 495 500 505 545 550 555
m=595,m FV0=0 m=645,m FV0=0 m=695,m FV0=0 m=735,m FV0=0
29. 75 A
29. 4 - M_E 29. 4 - . M_E 29. 50 - - M_E - M_E
29, 7 29.2 29. 25 29. 50
29.0 A 4 29. 25 A
29,0 - 29. 00
28.8 - 28. 75 - 29. 00 -
28. 8
28. 6
28. 50 - 28. 75 A
28.6 1 28. 4 -
28. 4 A 28. 2
T T T T T T T T T T T T
595 600 605 645 650 655 695 700 705 735 740 745
m=770,m FVO=0 m=800,m FV0=0 m=835,m FV0=0 m=875,m FV0=0
—&— M_E - ME 30. 2 - —o— MNE 30. 2 - o ME
29. 8 30. 0 A
30. 0 A 30. 0 A
29.6
29. 8 1
29. 8 A 29. 8 A
29. 4 A
29.6
29 2 29.6 - 29.6 -
99 0 4 29. 41 29. 4 1 29.4 1
28. 8 29.2 A 29. 2 29. 2 1
770 775 780 800 805 810 835 840 845 875 880 885
m=920,m FV0=0 m=965,m FV0=0 m=1020m FVO0=0 m
30. 25 - -@— ME 30. 2 -—@— ME 30.25 4+ —@— M_E
30. 00 - 200 4 30,00 -
29.75 A 29. 8 29.75 A
29. 50 ~ 29. 6 99. 50 4
29. 25 - 29. 4 -
29. 25 A
29. 00 - 29. 2 1
29. 00 A
920 925 930 965 970 975 1020 1025 1030 600 800 1000



m=460, FV0=0

45 1 —— MW
44
43
42
41
40 -
39 - T T T
460 465 470
m=645,m FV0=0
44 1 —o— MW
43
42
41 -
T T T
645 650 655
m=800,m FV0=0
—o— MW
46 -
45 -
44
43 -
800 805 810
m=965,m FV0=0
45 -
—o— MW
44
43
42 -

965 970 975

48

47 -

46

45 -

44 -

43

44

43

42

41

40

m=495, FV0=0

—— MW

495 560 565
m=695,n FV0=0

—— MW

695 760 765
m=835,n FV0=0

—— MW

45 _

44

43 -

42

835 8&0 8&5
m=1020m FV0=0

46 - - MW

45

44 -

43 A

42

il

1020 1025 1030

m=545, FV0=0
48 —— MW
47 -
46 -
45 -
44 -
T T T
545 550 555
m=735,m FV0=0
44 - —— MW
43 -
42 -
41 -
T T T
735 740 745
m=875,m FV0=0
45
—— MW
44 -
43
42 -
875 880 885

m=595, FV0=0

47 A

46 -

45

44

43 -

—— MW

T
595

660 665
m=770,n FV0=0

45 -

44

43 -

42

41

—o—

M_W

770

7;5 7é0
m=920,n FV0=0

44

43

42

41

—o— MW

920

925 930




hour

100

10 -
20
80
15
110
- 60
105
:55
- 40
:50
140
20
:30
:30
-0




P3-12

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR ERR

08:20 288 150.0 B 1Rige08:20 Bzh (REEEE)
09:15 288 150.0 BS| 1Ri%e09:15 Bz (GREMEEEE)
10:10 288 150.0 |Z=| 1Ri&e@10:10 Bzl (GREBEEE)
11:05 288 150.0 BE| Rige11:05 Ba) (REAEHSE)
11:55 288 150.0 S| Ri&e11:55 Bz (GREERESE)
12:50 288 150.0 S| 1Rige12:50 Bzh (REERER)
13:40 288 150.0 B 1Rige13:40 B3h (REEESER)
14:30 288 150.0 RS Rige14:30 Bz (REAEHE)
15:30 288 150.0 RS Ri%@15:30 B3 (REAERESR)
2it[2592.0 (9%) 1350. 0 323 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRERE150. 0 ml.

HEEIKECE (2370.0 vs 3623.0) 1B

150.0), FAEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=54 (2025-05-26)

T e g g S S B S

100 A

50

(¢
200 -
150
100 A

50 A

VI, V&*8RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2100

363

20

Warning: lcol [FVI',| "FVO’'] missing

1.0

Warning: lcol ["WC1',  "WC2'] missing

40

- 2000

- 1000

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

200

100 A

Bylnit; @57 01:48: ET=1468 Fg=1800.0 Ro=383.0
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200

100 A

ByEt @D54 19:08:

ET=1227 Fg=1683. 0 Ro=nan
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0 1
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- 2000
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ByWoFvl @D57 01:48: ET=1135 Fg=1350.0 Ro=254.0

e s—s

100 A

- 1000

1.0

10

11
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0.8
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ES
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1500 4
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—@— PPFD obs

|
| _obs

VPD P

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=445, FV0=0 m=495, FV0=0 m=540, FV0=0

—— ME —o— ME 29. 21 —e— ME
28.01 28. 8 -
29.0
27.5
28.6
28.8
27.0
28. 4 28,6
26.5
28.2 28.4
T T T T T T T T T T T T
600 800 1000 445 450 455 495 500 505 540 545 550
m=595,m FV0=0 m=650,m FV0=0 m=705,m FV0=0 m=745,m FV0=0
—o— ME —o— ME 29.5071 _o mE 29.754 —@— ME
29.2 29. 4 1
29. 25 -
29.2 29. 50 -
29.0
29. 00 -
29.0 29. 25 -
28.8 1 ) 28.75 -
8.8 - 29. 00 -
28. 6 i
28.6 1 28.50
28. 75 -
28. 4 284 - 28. 25
28. 50 -
T T T T T T T T T T T T
595 600 605 650 655 660 705 710 715 745 750 755
m=785,m FV0=0 m=830,m FV0=0 m=880,m FV0=0 m=950,m FV0=0
—o— ME —o— ME —o— ME —o— ME
29. 75 - 29. 75 - 30.0 1 30.0 1
29. 8 29.8
29. 50 - 29. 50 -
29.6 29.6
29. 25 - 29. 25 -
29.4 29.4
29. 00 - 29. 00 -
29.2 29.2
28. 75 - 28. 75 - 290 - 99 0 -
785 790 795 830 835 840 880 885 890 950 955 960
m m=445,m FV0=0 m=495,m FV0=0 m=540,m FV0=0
45 4
42 - —o— MW 46 —— MW —— MW
_ 44 _
41 45
40 44 43 -
39 + 43
42 -
38 1 42
600 800 1000 445 450 455 495 500 505 540 545 550



45

m=595, FV0=0

44 4

43

42

41 -

—0—

M_W

595

T T
600 605

m=785,m FV0=0

45 -

44 4

43 A

42 -

41 -

40 ~

—0—

M_W

785

790 795

m=650, FV0=0

43 -

42

41

40 -

—— MW

T
650

T T
655 660

m=830,m FV0=0

43 A

42 -

41

40 ~

39 A

—— MW

T
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835 840

m=705, FV0=0

44

43 A

42 -

41 -

40 ~

39 A

—0—

MW

T
705

T T
710 715

m=880,m FV0=0

44

43 A

42 -

41 -

—0—

M_W

T
880

885 890

m=745, FV0=0

43 -

42

41

40 -

39 A

—0—

MW

745

T T
750 755

m=950,m FV0=0

44 4

43 -

42 -

41 -

—0—

M_W

950

955 960
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P3-12

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR e

08:20 294 150.0 B 1Rige08:20 Bzh (REEEE)
09:10 294 150.0 BS| 1Ri%e09:10 Bz (GREMEEEE)
10:10 294 150.0 S| 1Rige10:10 B3h (REEER)
11:05 294 150.0 BE| Rige11:05 Ba) (REAEHSE)
12:00 294 150.0 S| Ri&@12:00 Bz (REEESE)
12:55 294 150.0 S| 1Rige12:55 Bzh (REEEE)
13:40 294 150.0 | B&| {Ri%@13:40 Bzl (GGRAMEESE)
14:40 294 150.0 RS {Rike14:40 Bz (REERS)
15:35 294 150.0 RS Ri%@15:35 Bz (REAERESR)
2it]2646.0 (9%) 1350. 0 323 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (191.0 :

ZRIALBRIERE153.0 ml.
FHERECE (2323.0 vs 3347.0) 1R

153.0), AlEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant)
o
OE

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=53 (2025-05-25)

T e g g e S B S g g
VI, V&RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET

Warning: lcol [FVI',| "FVO’'] missing

20

1900
100 o
093
50 -
60
0_
( o v

Warning: lcol ["WC1',  "WC2'] missing

— M_E

- 2000

- 1000

0

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 -

2

yal

2 3 4

5

6

7

Byltnit} @57 01:48: ET=1213 Fg=1500.0 Ro=314.0

$—8& &8

- 2000

- 1000

10

11

12

13

14

15

21 22 23

SOT W [ w [ | 8 |’

i

[

i

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

E3 E3 ES
B B 5]

200 -

100 -

ByEt @D53 16:35: ET=1220 Fg=1836.0 Ro=nan

0 2
0 2 | 3 | 4

1

7

8

9

10

11

12

13

- 2000

- 1000

17

21 22 23

0T 8 [ | 85 | &5 | &

i

i

i

i

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3 E3 ES
B B 5]

200 -

100 -

]
ByWoFvl @D57 01:48: ET=1185 Fg=1350.0 Ro=260.0

_

- 2000

- 1000

"o e —e—2

10

11

12

13

14

16

17

18

19

20

21 22 23

0.8
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0.6
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0.0
1500 A

1000 ~

500 A

[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=450, FV0=0 m=495, FV0=0 m=5395, FV0=0

v o lco— WE 28.8 - o we| 297 o ne
. 28.8 -
27.5 - '
28.6 -
27.0 28. 41
28. 4 -
26.5 28.2 7 28.2
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 555 560 565
m=610,m FV0=0 m=655,m FV0=0 m=700,m FV0=0 m=740,m FV0=0
29,4 -
29.2 - - ME - ME 29. 50 - ME ] o, 7O ME
29.2 -
29.0 - 29. 25 - 99,2
29.0 -
28.8 - 29.00 - ]
265 - 29.0
28.6 - i
28.6 - 28.75 08 g
28. 4 -
28.4 - 28.50 7 28.6 -
28.27 28. 25 -
28.2 - : 28. 4 -
T T T T T T T T T T T T
610 615 620 655 660 665 700 705 710 740 745 750
m=780,m FV0=0 m=815,m FV0=0 m=860,m FV0=0 m=905,m FV0=0
—o— MWNE - MNE —o— WNE 30001 o ¢
29.6 - 29.8 - 29. 75 -
29.75 -
29. 4 -
29.6 - 29. 50 -
29 2 29. 50 -
29.4 - 29. 25 -
29.0 - 29. 25 -
29.2 - 29. 00 -
28.8 1 29.00 -
i 29.0 - 28.75
28.6 28.75 -
780 785 790 815 820 825 860 865 870 905 910 915
m=950,m FV0=0 m=1010m FVO0=0 m m=450,m FV0=0
3001 o wE 30001 o ¢ R——
44 -
29. 8 - 29.75 -
43 -
29.6 -
29. 50 -
42 -
29. 4 -
29. 25 -
29.2 - 4
29.00 - ]
29.0 - 40
08, g 28.75 - 29
950 955 960 1010 1015 1020 600 800 1000 450 455 460



m=495, FV0=0

46

45 ~

44 -

43 -

42

—— MW

495

T T
500 505

m=700,m FV0=0

44

43 -

42 -

41 -

40 -

—o—

700

T T
705 710

m=860,m FV0=0

44 -

43 A

42 -

41 -

—— MW

860

865 870

m=555, FV0=0
46 . + M_W
45
44
43
42 ~
T T T
555 560 565
m=740,m FV0=0
—-o— MW
44
43 ~
42 -
41 +
T T T
740 745 750
m=905,m FV0=0
—-— MW
43 -
42 ~
41 -
40
905 910 915

m=610, FV0=0

44

43 A

42

41 -

40 -

—0—

M_W

610

6i5 GéO
m=780,n FV0=0

46 -

45 -

44 4

43

42

—— MW

780

7é5 7é0
m=950,n FV0=0

41 —e— MW
43 1
42 1
41

40 -

950

955 960

m=635, FV0=0

44

43

42

41

40 -

—0—

M_w

655

T T
660 665

m=815,m FV0=0

45 -

44

43

42 -

—0—

M_W

815

T T
820 825

m=1010m FVO=0

45

44 4

43

42

41

—0—

M_W
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1015 1020




